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Instructions / }{dell (Physical Submission)

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet
PHYSICALLY.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).
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080.

081.

082.

083.
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1. 55 21 Uid 52 s16(Rdl [Adrw

2. dariR-% A A aeai-l ol el viadl sdl.

3. s16[Raui Br-u513 Aedl Al [y we dsfus Rsian w-aa
4. AMERS HagRHNIH 2320

(A)$5d 1,2, 21 3 (B) $5d 1, 2, 21 4
@:s11,3, 2114 (D) 1,2,3 1 4

Y

D2l WAL 51 lRRIAL HUHMA AUIR 5 HISHL WAL UAUHT 209 € 2

(A) 2R AL gra-i 2ueal

@)oiv2a ueu-d GReu s1a

(C) si=ull sila-u 2ugal

(D) *Rcla AU SIFAA HGLA A vild HSLeHL AL G1RL % SAME A A 621

o101l {121 WS Sl M10L €35 AR5 AU AH HAMA 217 Ulsa101d 8] erid il 2ud & 2
@)vicuzoi-i cuo - (B) 6ituReL Q1L - TV
(C) situReLl &udL - X (D) bRl &UdL - XI

AL GUE FURAHE SvoHL AL UAH 6614, 51+ AL 5012 4 &l ?
(A) 1969 @197
(C) 1989 (D) 1996

Q2 WA 53 vl yneyd s cuot el ?
(A) tlaRRld wad $29 (B) -l 28u sl
@252 wan 529 (D) %82 Masd- yau sd)

ARAlY iR A 513 Havllai su1L cuaHl 2uadl aad ¢ ?

@ 1x-B (B) ®1oL X
(C) ML XI (D) MU XV
214249 15 Hi Me™ia A0 uldsisl A% .......... sl s2s1a9 el

(A) WBAAL 1, uNSL 2 WA 2ARUS AL

(B) 516 uR wrl¥s 2 Aaids Nd uesia adil-l Gld w2 a1 2RAd Ald 21 2034 Rd goald
CTERRTEE ! RIETE ]

@) > B) vin

(D) (A) ¥ (B) U4l 518 )
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084.

08s.

086.

087.

088.

089.

090.

091.
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@)20134i Qloll srcumi 2uda diswadd Az AuRs ire B ug vitglla 2 .
(B) diswarl A vis vieas v 5 el sl sia 69,

(C) (A) 21 (B) bid

(D) (A) 21 (B) U4l 516 -]

A WA 5O cuduil [Ramsidl 2ol ad) 2
(A) Sy 0y dedl 2=Uxs Jaquure 1alldl
(B) A5y i3 HsA% 6llS 218 Sefla
(C) Uraint 53 29y d23 =8 3aqui-2 20l
@512 2042 deyna

A1 U sy/sun [Qanmy/Aan-l i/l ?

(A) A vl Al 214 cuRd a22H [dadld e €.

(B) Aactt gl 5 % dll wld Q4L 821d 69 d 20 vilemidl ag 6 2 uAHE 2ULs Al 1oL €9,
@) 217 B) vid

(D) (A) ¥ (B) U4l 518 )

A2l W s 2AMAuH AMERS HagrR Hsoi-l a3vud 3 ?

@5-un 56l 2is2, 1909 (B) darinre viis S-fla 2452, 1919
(C) S-8luA 516 %2, 1892 (D) dAa-u-2 s S-ful 282, 1935
MRl “gs dze” dllax.......... A8 AR Aolrirl [Rd 21 atiidl [BHiud s34l
(A) 2ul3st (B) A8l w5t

@ un AR 2o (D) yAluA 28

oA Urt < ufle, u-fle < Aludl 214 2wl > 2l dl DA U4 53 SHan w2 ¢ ?

(A) Ut > 2L @i <

(C) u-dla = 2l (D) urdla > 2ivl

215 200 Hl22 aioll 2+ 40 (34 uld sausl aldaxt o6 WL 8. d Acdad 125 Glell 8L casla wnel
sedll Asw3ui uR A8 %9 ?

(A) 12 (B) 15
(C) 16 @3

A LSIXVC A MUMBAI HI2+l 513 €14 dl DELHI #2513 .......... £9.
@& cciop (B) CDKGH

(C) CCJFG (D) CCIFE
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09s.

096.

097.

098.
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100.

25 dlsa-l sl 18 Yed ulsazil x1aa1 30 sunsi-l 6. 12 Yod Alsail d dlseHi seal sunst wxdl
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(A) 6 @0 (©) 12 (D) 15

YN Y

X 21 Y L s 205l 9RITR 4:3 € A du-il HiRs vl 9RITR 3:2 6. dH ©9di, d €35 €2
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(A) 3L. 28,000 @)z 42,000 (C) 31. 56,000 (D) 31. 84,000

i Ee g2 18 [AA2 Al 69, ollod He g2 24 [A[A2 cwdl, -l ez g2 32 [AlA2 Al 9. o ARy &2 is v
AHY U2 8 AL ALAL 1Y, dl P4~ UL AHA d 315 A Al ?

(A) 12:40 sQ13 @12:48 sas
(C) 12:56 5415 (D) 13:04 5415

Y AN

Ui sl @ad GUR 54 6, 7, 8, 9 21 12 As~3+lL vidAdl 118 200012l 913 8. s saUsHL A2l 218
AW.......... aQuid @&, Gu ol e9isel.

(A) 6 (B) 8 ©- (D)9

215 uou [Qendlziia duq 2562 AaBs ueel 12 Ald A5 Sun 2L 2 3L 700 -l 541 Gualol
S 8. % E35 SUH il 2OUGU UM 5l 3L. 20 2dieg Sl dl HuH oL Heg Heu 524 82l ?

@340 (B) 3L 30 (C) 31.60 (D) 31.80

45 [Qenell2AiL Q2THL 218 691520 20HL $H UL, FUIR 6L E915AXAL AU UL d-lL 51 1 B2l a2l 2ilaHn
9318l dril Al $H sUL 8 ?

(A) 2541 (B) 264l @):7 (D) 284l

-

215 oroul WEHll 120 2422024 UL 70 Y3l 8 241 80 J1daRd cldu-A 4R1d 9. J19aRT AUAA YA
y3ni-l 2Ae91ui 2] 2Ava ol ayui ay AvaL q3AHL RITR g 6 ?
A)102 B)24 3 @: 07 D)5N7

6l el X 21 Y vl Al 2dvul 7 4l vigs5H 20% i 28% Al 9. Y vl X vl sl S2e 251
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101.

102.

103.

104.

10S.

106.

107.

108.

What are the types of Arrays?
(A) int, float, char, double
(C) long

An array Index starts with

(A) -1 &

(B) struct, enum
.all of the above

©)1

Choose a correct statement about C language arrays.

(A) An array size cannot change once it is created.

(B) Array element value can be changed any number of times

D)2

(C) To access N'" element of an array student, use students[n—1] as the starting index is 0.

.All of the above

What is an array Base Address in C language?

(A) Base address is the address of 0" index element.

(B) An array b|] base address is &b[0]

(C) An array b[] base address can be printed with printf (" %d", b);
y p p

.All of the above

An entire array is always passed by to a called function.

(A) Call by value
(C) Address relocation

What is a String in C Language?
(A) String is a new Data Type in C

.Call by reference
(D) Address restructure

.String is an array of Characters with null character as the last element of the array.

(C) String is an array of Characters with null characters as the first element of array

(D) String is an array of Integers with 0 as the last element of array.

Choose a correct statement about C String.

char ary[]="Hello..!";
.Character array, ary is a string.
(B) Ary has no Null character at the end

(C) String size is not mentioned

(D) String cannot contain special characters.

What is the Format specifier used to print a String or Character array in C Printf or Scanf

function?
(A) %c

@

B) %C
(D) %w
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109.

110.

111.

112.

113.

114.

115.

Which of the following statement(s) about stack data structure is/are NOT correct?
(A) Linked List are used for implementing Stacks

(B) Top of the Stack always contain the new node

.Stack is the FIFO data structure

(D) Null link is present in the last node at the bottom of the stack

Which of the following is not an inherent application of stack?
(A) Reversing a string

(B) Evaluation of postfix expression

(C) Implementation of recursion

.Job scheduling

The type of expression in which operator succeeds its operands is
(A) Infix Expression

(B) Prefix Expression

.Postﬁx Expression

(D) Both Prefix and Postfix Expressions

Consider an implementation of unsorted singly linked list. Suppose it has its representation with a
head pointer only. Given the representation, which of the following operation can be implemented
in O(1) time?

i) Insertion at the front of the linked list

ii) Insertion at the end of the linked list

iii) Deletion of the front node of the linked list

iv) Deletion of the last node of the linked list

(A)1and II @)1 ana

(O) L II and III D) L II and IV

In linked list each node contains a minimum of two fields. One field is data field to store the data
second field is

(A) Pointer to character (B) Pointer to integer
.Pointer to node (D) Node

The concatenation of two lists can be performed in O(1) time. Which of the following variation of
the linked list can be used?

(A) Singly linked list (B) Doubly linked list
.Circular doubly linked list (D) Array implementation of list

The data structure required for Breadth First Traversal on a graph is
(A) Stack (B) Array
.Queue (D) Tree
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116. If the elements “A”, “B”, “C” and “D” are placed in a queue and are deleted one at a time, in what
order will they be removed?

@:Bcp (B) DCBA
(C) DCAB (D) ABDC

117. Which of the following is not the type of queue?
(A) Ordinary queue .Single ended queue
(C) Circular queue (D) Priority queue

118. The average depth of a binary tree is given as
(A) ON) (B) O(VN)

(C) O(N?) @oaogN) -

119. Ifbinary trees are represented in arrays, what formula can be used to locate a left child, if the node
has an index i?

@:i+1 (B) 2i+2
(©)2i (D) 4i

120. In a max-heap, element with the greatest key is always in which node?
(A) Leaf node (B) First node of left sub tree
.Root node (D) First node of right sub tree

121. Heap can be used as
.Priority queue (B) Stack
(C) A decreasing order array (D) Normal Array

122. For the given graph(G), which of the following statements is true?

(A) G is a complete graph
(B) G is not a connected graph

.The vertex connectivity of the graph is 2
(D) The edge connectivity of the graph is 1
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123.

124.

125.

126.

127.

128.

129.

130.

131.

A connected planar graph having 6 vertices, 7 edges contains regions.
(A) 15 (B) 3
o1 M1

Which of the following is true?

(A) A graph may contain no edges and many vertices
.A graph may contain many edges and no vertices
(C) A graph may contain no edges and no vertices

(D) A graph may contain no vertices and many edges

What is the depth of the root node of the ternary tree?
(A)2 B)1

©0 (D)3

Let P: I am in Bangalore.; Q: I love cricket.; then q -> p(q implies p) is
.If I love cricket then I am in Bangalore

(B) If I am in Bangalore then I love cricket

(C) I am not in Bangalore

(D) I love cricket

Let P: This is a great website, Q: You should not come back here. Then ‘This is a great website and
you should come back here.’ is best represented by

(A)~PV~Q @r -0
(C)PVQ DPAQ

If Ais “001100” and B is “010101” then what is the value of A (Ex-or) B?

(A) 000000 (B) 111111

(C) 001101 @)o11001

{x: x is a real number between 1 and 2} is an

.Inﬁnite set (B) Finite set

(C) Empty set (D) None of the mentioned

Number of power set of {a, b}, where a and b are distinct elements.

A3 .4

©2 D5

An injection is a function which is
(A) many-one .one-one

(C) onto (D) none of the mentioned
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132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

A function is defined by mapping f : A — B such that A contains m elements and B contains
n elements and m < n then number of one functions are

.“Cm X m! (B)"C_xn!
oo (D) none of the mentioned

A floor function map a real number to
(A) smallest previous integer .greatest previous integer

(C) smallest following integer (D) none of the mentioned

How many five-digit numbers can be made from the digits 1 to 7 if repetition is allowed?

.16807 (B) 54629 (C) 23467 (D) 32354
How many even 4 digit whole numbers are there?

(A) 1358 (B) 7250 @ 4+500 (D) 3600
The graph representing universal relation is called

.complete digraph (B) partial digraph

(C) empty graph (D) partial subgraph

A simple graph can have

(A) multiple edges

(B) self loops

(C) parallel edges

.no multiple edges, self-loops and parallel edges

Degree of a graph with 12 vertices is
(A) 25 (B) 56
©):4 (D) 212

G is an undirected graph with n vertices and 26 edges such that each vertex of G has a degree at
least 4. Then the maximum possible value of n is

A7 (B) 43

@3 (D) 10
The rank of smallest equivalence relation on a set with 12 distinct elements is

@2 (B) 144
(©) 136 D) 79

Suppose S is a finite set with 7 elements. How many elements are there in the largest equivalence
relation on S?

(A) 56 (B) 78
@+ (D) 100
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142.

143.

144.

145.

146.

147.

148.

149.

150.

Find the value of a, for the recurrence relation a =2a_ + 3, with a =6.

(A) 320 (B) 221 @141 (D) 65
A cyclic group can be generated by a/an element.

.singular (B) non-singular

(C) inverse (D) multiplicative

A cyclic group is always
.abelian group (B) monoid
(C) semigroup (D) subgroup

A Poset in which every pair of elements has both a least upper bound and a greatest lower bound

is termed as

(A) sublattice .lattice

(O) trail (D) walk

A has a greatest element and a least element which satisfy 0<=a<=1 for every a in
the lattice(say, L).

(A) semilattice (B) join semilattice

(C) meet semilattice .bounded lattice

The complexity of Bubble sort algorithm is
(A) O(n) (B) O(log n) @on> (D) O(n log n)

The Worst case occur in linear search algorithm when
(A) Item is somewhere in the middle of the array

(B) Item is not in the array at all

(C) Item is the last element in the array

.Item is the last element in the array or is not there at all

Which of the following cases does not exist in complexity theory?
(A) Best case (B) Worst case
(C) Average case .Null case

If for an algorithm time complexity is given by O(1) then the complexity of it is
.constant (B) polynomial

(C) exponential (D) none of the mentioned
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151.

152.

153.

154.

155.

156.

157.

158.

In the following scenarios, when will you use selection sort?
(A) The input is already sorted

(B) A large file has to be sorted

.Large values need to be sorted with small keys

(D) Small values need to be sorted with large keys

Shell sort algorithm is an example of
(A) External sorting .Internal sorting
(C) In-place sorting (D) Bottom-up sorting

On which algorithm is heap sort based on?
(A) Fibonacci heap (B) Binary tree
.Priority queue (D) FIFO

In heap sort, after deleting the last minimum element, the array will contain elements in
(A) increasing sorting order .decreasing sorting order

(C) tree inorder (D) tree preorder

What is vertex coloring of a graph?

.A condition where any two vertices having a common edge should not have same color
(B) A condition where any two vertices having a common edge should always have same color
(C) A condition where all vertices should have a different color

(D) A condition where all vertices should have same color

Minimum number of unique colors required for vertex coloring of a graph is called
(A) vertex matching (B) chromatic index

.chromatic number (D) color number

Which of the following is a variation of bubble sort?
(A) selection sort .odd even sort
(C) cocktail sort (D) stupid sort

Which of the following is/are property/properties of a dynamic programming problem?
(A) Optimal substructure

(B) Overlapping subproblems

(C) Greedy approach

.Both optimal substructure and overlapping subproblems
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159.

160.

161.

162.

163.

164.

16S.

166.

167.

If a problem can be solved by combining optimal solutions to non-overlapping problems, the
strategy is called

(A) Dynamic programming (B) Greedy
.Divide and conquer (D) Recursion

When a top-down approach of dynamic programming is applied to a problem, it usually

(A) Decreases both, the time complexity and the space complexity
.Decreases the time complexity and increases the space complexity
(C) Increases the time complexity and decreases the space complexity

(D) Increases both, the time complexity and the space complexity

The travelling salesman problem can be solved using
(A) A spanning tree .A minimum spanning tree
(C) Bellman-Ford algorithm (D) DFS traversal

Which of the following is not the algorithm to find the minimum spanning tree of the given graph?
(A) Boruvka’s algorithm (B) Prim’s algorithm
(C) Kruskal’s algorithm .Bellman-Ford algorithm

Which of the following is the most commonly used data structure for implementing Dijkstra’s
Algorithm?

(A) Max priority queue (B) Stack

(C) Circular queue .Min priority queue

The running time of Bellman-Ford algorithm is lower than that of Dijkstra’s Algorithm.
(A) True

.False

Dijkstra’s Algorithm is the prime example for
.Greedy algorithm (B) Branch and bound
(C) Back tracking (D) Dynamic programming

Breadth First Search is equivalent to which of the traversal in the Binary Trees?
(A) Pre-order Traversal (B) Post-order Traversal
.Level-order Traversal (D) In-order Traversal

When the Breadth First Search of a graph is unique?
(A) When the graph is a Binary Tree

.When the graph is a Linked List

(C) When the graph is a n-ary Tree

(D) When the graph is a Ternary Tree
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168.

169.

170.

171.

172.

173.

174.

175.

What is the objective of the knapsack problem?
.To get maximum total value in the knapsack
(B) To get minimum total value in the knapsack
(C) To get maximum weight in the knapsack

(D) To get minimum weight in the knapsack

The ability to query data, as well as insert, delete, and alter tuples, is offered by
(A) TCL (Transaction Control Language)

(B) DCL (Data Control Language)

(C) DDL (Data Definition Langauge)

.DML (Data Manipulation Langauge)

Procedural language among the following is
(A) Domain relational calculus

(B) Tuple relational calculus

.Relational algebra

(D) Query language

What does a foreign key combined with a primary key create?
.Network model between the tables that connect them

(B) Parent-Child relationship between the tables that connects them
(C) One to many relationship between the tables that connects them
(D) All of the mentioned

Which of the following is popular for applications such as storage of log files in a database
management system since it offers the best write performance?

(A) RAID level 0 @RAID level 1
(C) RAID level 2 (D) RAID level 3

Which-one of the following statements about normal forms is FALSE?

(A) BCNF is stricter than 3 NF

(B) Lossless, dependency-preserving decomposition into 3 NF is always possible
.Loss less, dependency-preserving decomposition into BCNF is always possible
(D) Any relation with two attributes is BCNF

Which forms simplifies and ensures that there are minimal data aggregates and repetitive groups?
(A) INF (B) 2NF
.3NF (D) All of the mentioned

Which forms are based on the concept of functional dependency?
(A) INF (B) 2NF @~y (D) 4NF
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176.

177.

178.

179.

180.

181.

182.

183.

184.

The file organization which allows us to read records that would satisfy the join condition by using
one block read is

(A) Heap file organization (B) Sequential file organization
.Clustering file organization (D) Hash file organization

The highest level in the hierarchy of data organization is called

(A) Data bank .Database

(C) Data file (D) Data record

states that only valid data will be written to the database.
.Consistency (B) Atomicity
(C) Durability (D) Isolation

Transaction processing is associated with everything below except
(A) Producing detail summary or exception reports

(B) Recording a business activity

.Conﬁrming an action or triggering a response

(D) Maintaining a data

In order to undo the work of transaction after last commit which one should be used?

(A) View (B) Commit
@ romvack (D) Flashback
A transaction completes its execution is said to be

@) committed (B) Aborted
(C) Rolled back (D) Failed

Which of the following is not an integrity constraint?

(A) Not null @rositive

(C) Unique (D) Check ‘predicate’

Foreign key is the one in which the of one relation is referenced in another relation.
(A) Foreign key .Primary key

(C) References (D) Check constraint

Data integrity constraints are used to

(A) Control who is allowed access to the data

(B) Ensure that duplicate records are not entered into the table

.Improve the quality of data entered for a specific property (i.e., table column)

(D) Prevent users from changing the values stored in the table
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18S.

186.

187.

188.

189.

190.

191.

192.

Alock that allows concurrent transactions to access different rows of the same table is known as a
(A) Database-level lock (B) Table-level lock
(C) Page-level lock @ row-level lock

Which of the following protocols ensures conflict serializability and safety from deadlocks?
(A) Two-phase locking protocol

.Time-stamp ordering protocol

(C) Graph based protocol

(D) None of the mentioned

Which refers to a property of computer to run several operation simultaneously and possible as
computers await response of each other?

.Concurrency (B) Deadlock

(C) Backup (D) Recovery

All lock information is managed by a which is responsible for assigning and
policing the locks used by the transactions.

(A) Scheduler (B) DBMS

.Lock manager (D) Locking agent

Which of the following is a procedure for acquiring the necessary locks for a transaction where all
necessary locks are acquired before any are released?

(A) Record controller (B) Exclusive lock
(C) Authorization rule .Two phase lock

is a hardware component that is most important for the operation of a database
management system.

(A) Microphone

.High speed, large capacity disk to store data
(C) High-resolution video display

(D) Printer

Which of the following set should be associated with weak entity set for weak entity to be
meaningful?

(A) Neighbor set (B) Strong entity set
(C) Owner set .Identifying set

In Operating Systems, which of the following is/are CPU scheduling algorithms?
(A) Priority (B) Round Robin
(C) Shortest Job First .All of the mentioned
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193.

194.

195.

196.

197.

198.

199.

200.

CPU scheduling is the basis of
.multiprogramming operating systems
(B) larger memory sized systems

(C) multiprocessor systems

(D) none of the mentioned

If a process fails, most operating system write the error information to a
(A) new file (B) another running process
.log file (D) none of the mentioned

When a process is in a “Blocked” state waiting for some I/O service. When the service is completed,
it goes to the

(A) Terminated state (B) Suspended state
(C) Running state .Ready state

The FCFS algorithm is particularly troublesome for

(A) operating systems (B) multiprocessor systems

(C) time sharing systems .multiprogramming systems

Swapping be done when a process has pending I/O, or has to execute I/O operations
only into operating system buffers.

.must never (B) may

(C) can (D) must

The operating system maintains a table that keeps track of how many frames have
been allocated, how many are there, and how many are available.

(A) memory (B) mapping

(C) page .frame

In real time operating system

(A) process scheduling can be done only once

(B) all processes have the same priority

(C) kernel is not required

.a task must be serviced by its deadline period

The priority of a process will if the scheduler assigns it a static priority.

(A) depend on the operating system
(B) change
.remain unchanged

(D) none of the mentioned
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201. The information about all files is kept in
(A) operating system .separate directory structure
(C) swap space (D) none of the mentioned

202. What will happen in the single level directory?
.All files are contained in the same directory
(B) All files are contained in different directories all at the same level
(C) Depends on the operating system
(D) None of the mentioned

203. On systems where there are multiple operating system, the decision to load a particular one is

done by
(A) process control block (B) file control block
.boot loader (D) bootstrap

204. Semaphore is a/an to solve the critical section problem.

(A) hardware for a system
(B) special program for a system
.integer variable

(D) none of the mentioned

205. When will file system fragmentation occur?
.unused space or single file are not contiguous
(B) used space is not contiguous
(C) unused space is non-contiguous

(D) multiple files are non-contiguous

206. In operating system, each process has its own
(A) open files
(B) pending alarms, signals, and signal handlers

(C) address space and global variables

.all of the mentioned

207. Hard real time operating system has jitter than a soft real time operating system.
(A) equal (B) more
.less (D) none of the mentioned

208. A deadlock avoidance algorithm dynamically examines the to ensure that a
circular wait condition can never exist.
(A) operating system (B) resources
(C) system storage state .resource allocation state
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209.

210.

211.

212.

213.

214.

215.

216.

217.

218.

The operating system keeps a small table containing information about all open files called

(A) file table (B) directory table

.open-ﬁle table (D) system table

The program initializes all aspects of the system, from CPU registers to device
controllers and the contents of main memory, and then starts the operating system.
.bootstrap (B) main

(C) bootloader (D) rom

In Unix, which system call creates the new process?

(A) create .fork

(C) new (D) none of the mentioned

The number of layers in ISO OSI reference model is

(A5 & ©)6 (D) 10

Which of the following layers is an addition to OSI model when compared with TCP-IP model?
(A) Application layer (B) Presentation layer

(C) Session layer .Session and Presentation layer

The functionalities of the presentation layer include

(A) Data compression (B) Data encryption

(C) Data description .All of the mentioned

TCP process may not write and read data at the same speed. So we need for storage.
(A) Packets @ sBuiters

(C) Segments (D) Stacks

Which multiple access technique is used by IEEE 802.11 standard for wireless LAN?

(A) CDMA @ csmaca

(C) ALOHA (D) CSMA/CD

Mostly is used in wireless LAN.

(A) time division multiplexing
.orthogonal frequency division multiplexing
(C) space division multiplexing

(D) channel division multiplexing

Multiplexing is used in
(A) Packet switching .Circuit switching
(C) Data switching (D) Packet & Circuit switching
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219. To join the internet, the computer has to be connected to a
(A) internet architecture board (B) internet society

.internet service provider (D) different computer

220. The size of an IP address in IPv6 is
(A) 32 bits (B) 64 bits
@125 vits (D) 265 bits

221. Which one of the following is not used in media access control?

(A) ethernet (B) digital subscriber line
(C) fiber distributed data interface .packet switching
222. The underlying Transport layer protocol used by SMTP is
@r1cr (B) UDP
(C) Either TCP or UDP (D) IMAP

223. A session may include
.Zero or more SMTP transactions
(B) Exactly one SMTP transactions
(C) Always more than one SMTP transactions
(D) Number of SMTP transactions can't be determined

224. 1If you wanted to have 12 subnets with a Class C network ID, which subnet mask would you use?

(A) 255.255.255.252 (B) 255.255.255.255

.255.255.255.240 (D) 255.255.255.248
225. HTTPis protocol.

.application layer (B) transport layer

(C) network layer (D) data link layer

226. If a page number is not found in the TLB, then it is known as a
.TLB miss (B) Buffer miss
(C) TLB hit (D) All of the mentioned

227. Which multiplexing technique is used to transmit digital signals?
(A) FDM & rom
(C) WbDM (D) FDM & WDM

228. In asymmetric key cryptography, the private key is kept by
(A) sender .receiver

(C) sender and receiver (D) all the connected devices to the network
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229. Which one of the following algorithm is not used in asymmetric-key cryptography?

(A) RSA algorithm (B) Diffie-Hellman algorithm
.Electronic code book algorithm (D) DSA algorithm
230. What is Data Encryption Standard (DES)?
.block cipher (B) stream cipher
(C) bit cipher (D) byte cipher

231. ElGamal encryption system is
(A) symmetric key encryption algorithm
.asymmetric key encryption algorithm
(C) not an encryption algorithm
(D) block cipher method

232. In public key cryptosystem which is kept as public?

.Encryption keys (B) Decryption keys
(C) Encryption & Decryption keys (D) None of the mentioned
233. Private key algorithm is used for encryption and public key algorithm is used for
encryption.
.Messages, session key (B) Session key, messages
(C) Can be used for both (D) None of the mentioned

234. Which algorithm can be used to sign a message?
@rubiic key algorithm (B) Private key algorithm
(C) Public & Private key algorithm (D) None of the mentioned

235. Data that can be modelled as dimension attributes and measure attributes are called

data.
.Multidimensional (B) Single dimensional
(C) Measured (D) Dimensional

236. What do data warehouses support?
@oLar (B) OLTP
(C) OLAP and OLTP (D) Operational databases

237. What are the functions of Data Mining?
(A) Association and correctional analysis classification
(B) Prediction and characterization
(C) Cluster analysis and Evolution analysis
.All of the above
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238.

239.

240.

241.

242.

243.

244.

245.

Which of the following statements is correct about data mining?
(A) It can be referred to as the procedure of mining knowledge from data
(B) Data mining can be defined as the procedure of extracting information from a set of the data

(C) The procedure of data mining also involves several other processes like data cleaning, data
transformation, and data integration

.All of the above

Which one of the following statements is not correct about the data cleaning?
(A) It refers to the process of data cleaning

(B) It refers to the transformation of wrong data into correct data

(C) It refers to correcting inconsistent data

.All of the above

is a good alternative to the star schema.
(A) Star schema (B) Snowflake schema
.F act constellation (D) Star-snowflake schema

The type of relationship in star schema is
(A) many to many (B) one to one

.one to many (D) many to one

Which of the following is not a component of a data warehouse?

(A) Metadata (B) Current detail data

(C) Lightly summarized data .Component Key

The exposes the information being captured, stored, and managed by operational
systems.

(A) top-down view (B) data warehouse view

.data source view (D) business query view

What type of join is needed when you wish to include rows that do not have matching values?
(A) Equi Join (B) Natural Join
.Outer Join (D) All of the above

Which of the following is true concerning a SQL procedure?
(A) You do not create them with SQL.

(B) They do not need to have a unique name.

.They include procedural and SQL statements.

(D) They are the same thing as a function.
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246. Embedded SQL is which of the following?
.Hard-coded SQL statements in a program language such as Java.
(B) The process of making an application capable of generating specific SQL code on the fly.
(C) Hard-coded SQL statements in a procedure.
(D) Hard-coded SQL statements in a trigger.

247. How many tables may be included with a join?
(A) One (B) Two
(C) Three .All of the above

248. What is the aim of NoSQL?
(A) NoSQL databases allow storing non-structured data.
(B) NoSQL provides an alternative to SQL databases to store textual.
.NOSQL is a new data format to store large datasets.
(D) NoSQL is not suitable for storing structured data.

249. is not a strong feature for NoSQL databases.
(A) Scalability .Relational data
(C) Both A and B (D) None of the above
250. A NoSQL database can manage information using models.
(A) Key-value store (B) Document-based
(C) Column-based or Graph-based .All of the above

251. NoSQL databases are designed to expand
(A) with increase of load (B) vertically

(C) hardware wise .horizontally
252. distributes different data across multiple servers.

(A) None of the options (B) Bucketing

.Sharding (D) Partitioning

253. Which of the following is a type of cloud computing service?
(A) Service-as-a-Software (SaaS)
(B) Software-and-a-Server (SaaS)
.Software-as-a-Service (SaaS)
(D) Software-as-a-Server (SaaS)
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254.

255.

256.

257.

258.

259.

260.

261.

Which of the following is an example of the cloud?
(A) Amazon Web Services (AWS) (B) Dropbox
(C) Cisco WebEx .All of the above

Which of the following is an example of an IaaS Cloud service?
(A) DigitalOcean (B) Linode
(C) Rackspace .All of the above

Which architectural layer is used as a backend in cloud computing?

@cioua (B) soft
(C) client (D) all of the mentioned

Identify the wrong statement about cloud computing.

(A) Virtualization assigns a logical name for a physical resource and then provides a pointer to
that physical resource when a request is made

(B) Virtual appliances are becoming a very important standard cloud computing deployment
object

(C) Cloud computing requires some standard protocols
.None of the mentioned

Which of the following is required by Cloud Computing?
(A) That the identity be authenticated

(B) That the authentication be portable

(C) That you establish an identity

.All of the mentioned

In which of the following service models the hardware is virtualized in the cloud?

(A) NaaS (B) PaaS

(C) CaaS @122

Which of the following type of virtualization is also the characteristic of cloud computing?

(A) Storage (B) Application

(C) CPU @Al of the mentioned

All cloud computing applications suffer from the inherent that is intrinsic in their WAN
connectivity.

(A) noise (B) propagation

.latency (D) all of the mentioned

[BCX] pro. [E2



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


262.

263.

264.

265.

266.

267.

268.

269.

Which of the following architectural standards is working with cloud computing industry?
(A) Web-application frameworks

.Service-oriented architecture

(C) Standardized Web services

(D) All of the mentioned

Which of the following is the most refined and restrictive cloud service model?

.PaaS (B) IaaS
(C) SaaS (D) CaaS

Which of the following is not a property of cloud computing?

(A) virtualization .composability

(C) scalability (D) all of the mentioned

The cloud infrastructure is operated for the exclusive use of an organization.
(A) Public @rrivae

(C) Community (D) All of the mentioned

A hybrid cloud combines multiple clouds where those clouds retain their unique identities but are
bound together as a unit.

(A) Public (B) Private
(C) Community @uyvria

is a software development activity that is not a part of software processes.
(A) Validation (B) Specification
(C) Development .Dependence

Define Agile scrum methodology.

.project management that emphasizes incremental progress
(B) project management that emphasizes decremental progress
(C) project management that emphasizes neutral progress

(D) project management that emphasizes no progress

Why do bugs and failures occur in software?
(A) Because of Developers

(B) Because of companies

.Because of both companies and Developers
(D) None of the mentioned
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270.

271.

272.

273.

274.

275.

276.

Attributes of good software is

(A) Development

@ Maintainability & functionality
(C) Functionality

(D) Maintainability

is not suitable for accommodating any change.
(A) RAD Model
@ waterfall Model
(C) Build & Fix Model
(D) Prototyping Model

What is the full form of the “COCOMO” model?
(A) Cost Constructive Estimation Model
.Constructive Cost Estimation Model
(C) Constructive Case Estimation Model
(D) Constructive Cost Estimating Model

Cleanroom software development process complies with the operational analysis principles by
using a method known as

(A) referential transparency
(B) degenerative error correction
.box structure specification

(D) none of the mentioned

is an indirect measure of software development process.
(A) Cost (B) Effort Applied
@ciriciency (D) All of the mentioned

Which of the following is not a part of Software evolution?
(A) Re-engineering activities

(B) Maintenance activities

(C) Development activities

.Negotiating with client

The word which describes the importance of software design is
(A) Complexity (B) Quality
(C) Efficiency .Accuracy
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277.

278.

279.

280.

281.

282.

What is Cyclomatic complexity?

(A) Black box testing .White box testing
(C) Yellow box testing (D) Green box testing

White Box techniques are also classified as
(A) Design-based testing

.Structural testing

(C) Error guessing technique

(D) None of the mentioned

Boundary value analysis belongs to
(A) White Box Testing
.Black Box Testing
(C) White Box & Black Box Testing

(D) None of the mentioned

Which of the following term describes testing?
(A) Finding broken code

.Evaluating deliverable to find errors

(C) A stage of all projects

(D) None of the mentioned

What are the features of cyber security?
(A) Compliance
(B) Defence against internal threats

(C) Threat Prevention

.All of the above

Which of the following is a component of cyber security?
.Internet Of Things

(B) Al

(C) Database

(D) Attacks

[BCX]

[Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


283. Which of the following act violates cyber security?
(A) Exploit
.Attack
(C) Threat
(D) Vulnerability

284. Which of the following is defined as an attempt to harm, damage or cause threat to a system
or network?

(A) Digital crime (B) Threats
(C) System hijacking @ cyver Attack

285. Which of the following DDoS in mobile systems wait for the owner to trigger the cyber attack?

.botnets (B) programs -

(C) virus (D) worms

286. Which of the following can diminish the chance of data leakage?

.Steganography (B) Chorography
(C) Cryptography (D) Authentication

287. Which of the following is not a strong security protocol?
(A) HTTPS (B) SSL
@smitp (D) SFTP

288. TSL (Transport Layer Security) is a cryptographic protocol used for securing HTTP/HTTPS
based connection.

.True

(B) False

289. Why did SSL certificate require in HTTP?
(A) For making security weak
(B) For making information move faster
.For encrypted data sent over HTTP protocol

(D) For sending and receiving emails unencrypted

290. SIPis abbreviated as
.Session Initiation Protocol
(B) Secured Initiation Protocol
(C) Secure Initiation Protocol

(D) Session Integration Protocol
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291.

292.

293.

294.

295S.

296.

is the entity for issuing digital certificates.
@ cCertificate Authority (CA)
(B) Cert Authority (CA)
(C) Cert Authorization (CA)
(D) Certificate Authorization (CA)

is the goal of Artificial Intelligence.
(A) To solve artificial problems
(B) To extract scientific causes
.To explain various sorts of intelligence

(D) To solve real-world problems

Which of the following is not an application of artificial intelligence?

(A) Face recognition system
(B) Chatbots
(C) LIDAR

@por™s

Face Recognition system is based on which type of approach?

(A) Weak Al approach

.Applied AT approach
(C) Cognitive Al approach

(D) Strong Al approach

What is the name of Artificial Intelligence which allows machines to handle vague information

with a deftness that mimics human intuition?
(A) Human logic

(B) Boolean logic

(C) Functional logic

.Fuzzy logic

Which of the following search method takes less memory?
(A) Optimal-Linear Search

(B) Binary search

(C) Breadth-First search

.Depth-First Search
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297. What are the two subfields of Natural language processing?
(A) symbolic and numeric
(B) time and motion
.algorithmic and heuristic

(D) understanding and generation

298. Programming a robot by physically moving it through the trajectory you want it to follow is called

(A) contact sensing control
.continuous-path control
(C) robot vision control

(D) pick-and-place control

299. Natural language understanding is used in
(A) natural language interfaces
(B) natural language front ends
(C) text understanding systems
.all of the mentioned

300. Which method is effective for escaping from local minima?
.Updating heuristic estimate
(B) Reducing heuristic estimate
(C) Eliminating heuristic estimate
(D) None of the mentioned
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